ZFSXTILAB 1/2
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[1:3ivd 5= HEFO podad ==
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‘I 1 IITF R&E 22. (Fx')—)
Wi 0A#H 22. (Fx')—) I
2 bye N
3 Ak EXE 10. (F¥ 2R TC) 10:00
A+t BEF 10. (F¥ >R TC) 10:15 11
4 =B BB 00. (f£&h. =) )
#HE 5YF 29. (FrL D)
5 R BT 15. (BLEEX)
A EF 15. (BL@BEX)
6 bye — 1
10:00
7 bye —
13 3 FH 8% 10. (F¥ >R TC)
Pk BAET 10. (F¥ YR TC) 10:00
9 9 BN EBR 18. RDETC)
NI EBF 20. (J3—)
10 bye —
1] Rl BE 8. HOETC) 10:00
=S 18. (FOETC) 10:15
12 W *7 10. (F¥ >R TC) )
i BF 00. (f£8h. 7E1¥)
13 R #PEF 07. BFEAKRT C)
o EFF 07. BFEARTC) 10:15
14 BE & M. FIVA>TC) )
A sh¥ N.GFIA2TC) 10:00
15 bye —
6 = 16 AR SIF 29. (Fr L)
E SH ZER 29. (Fr L) 10:15 I
4 = 17 it FpH 28. (ERXHKF) .
= R 07. BFEATC)
18 bye -
19 Wi EF 17 (BOETO) 10:00
a2+ EAEF 00. (F£%h. 71 10:15
20 H BT 2. (FTC #HNE) )
EE AT 25. (FTC #HMOE)
21 e BEE 29. (Fxr L)
wn #t¥ 29. (Fr L)
22 bye -
10:00
23 bye —
‘I 6 &N F= 07. BFEKRT C)
B ANF 25 (FTC FHNDE) 10:00
-I -I 25 INE B 28. (BKHKF)
2B BRT 10. (F¥ 2R TC)
26 bye -
27 —f EF 18. FMETC) 10:45
A B 18 (FDETC) 015
28 Rtk BF 14. (BETYH) )
Bl MY 14 (BETSH)
29 B BYK 10. (F¥ A TC)
MmH BE 10. (F¥YRTC) 10:15
30 HH B8F 28. (ERKHKF) i
Frep X 28. (ERKHKF) 10:45
31 bye —
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34 bye —
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36 T # 14. (BETY) )
BH BHE 14. (HETY)
37 ml FF 21. (U\EY)
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38 bye —
10:45
39 bye —
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42 bye —
10:45
43 bye —
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47 bye —
3 = 48 BEH SHF 17. (BOETC)
E e EZF 00. (F£%h. #1F) 10:15 I I
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E aig EF 26. (FARYIYE)
50 bye I
5 BRTL 28 (FYLUY) 11:30
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52 NS BEEF 14. (BETY) )
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53 =H BT 01. (ERERTC)
ML #EY 01. (ERERT C) 11:00
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55 bye —
-I 0 5e B BT 2% (FTC #oB) _ |
aE =¥ 00. (F£%h. #=1®) 10:45
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58 bye I
11:30
59 bye —
60 FE HF 17. (BDETC) g
KiE FHR 20. (V3—)
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B kK*E 2. (Fx')—) 11:45
2 f&HA %M 14 (BETY) )
A =EF 24. (HLTC) 11:30
63 bye —
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